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HD (25
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@ 0.08 — 0.06 =
09 — 0.06 =
@ 1 — 001 =
@ 09 — 0.02 =
@ 0.15 — 0.03 =
0.1 — 0.06 =
® 0.46 — 0.02 =
0.1 — 0.08 =
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2 1-0.09=0.01 o
® 1 — 007 = @ 0.07 — 0.05 =
@ 0.05 — 0.03 = 0.4 — 0.05 =
® 01 — 002= @ 1 —002=
@ 07 — 006 = @ 02 — 001 =
® 011 — 0.04 = ® 015 — 0.02 =
® 004 — 0.02 = 0.2 — 0.05 =
@ 099 — 0.05 = » 0.45 — 0.02 =
0.3 — 0.03 = 0.1 — 0.08 =
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1 Oog HO017E
Y 1-0.09=0.01
o 0.05 =
3 0.04 — 0.02 =
3 02 — 0.01 =
@ 06 — 0.05 =
® 0.11 — 0.03 =
® 0.03 — 0.01 =
@ 0.98 — 0.05 =
0.4 — 0.02 =
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@ 0.06 — 0.04 =
05 — 0.04 =
@ 1 — 0.03 =
@ 0.3 — 0.09 =
@ 0.15 — 0.01 =
0.3 — 0.04 =
® 0.44 — 0.02 =
0.1 — 0.06 =
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2 1-009=00"
™ 1 — 003=
@ 003 — 001 =
® 02 — 0.09 =
@ 08 — 0.04 =
® 0.11 — 0.02 =
® 02 — 0.06 =
@ 097 — 0.05 =
0.5 — 001 =
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@ 0.05 — 0.03 =
0.6 — 0.03 =
@ 1 — 0.04 =
@ 0.3 — 0.08 =
@ 0.16 — 0.06 =
04 — 0.03 =
® 0.43 — 0.02 =
0.1 — 0.05 =



INEDS|ITEQ

1 Oog HO017E
£50)

= 1-0.09=0.01

@

1

0.02

0.2

0.8

0.11

0.1

0.96

0.4

0.07

0.01

0.08

0.03

0.07

0.05

0.05

0.02

(5)

D (Z5

FER

@ 0.04 — 0.02 =
0.7 — 0.02 =
@ 1 — 006 =
@ 09 — 0.0/ =
@ 0.16 — 0.05 =
0.5 — 0.02 =
® 042 — 0.02 =
0.1 — 0.04 =
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@ 1 — 0.06 =
@ 04 — 0.06 =
@ 0.16 — 0.04 =
05 — 0.01 =
® 0.39 — 0.02 =
0.1 — 0.03 =
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o 0.05 =
3 0.09 — 0.01 =
3 0.1 — 0.06 =
@ 03 — 001 =
® 021 — 0.08 =
® 0.99 — 0.09 =
@ 094 — 0.02 =
02 — 0.04 =
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@ 0.02 — 0.01 =
09 — 0.01 =
a 1 — 00/ =
@ 05 — 0.05 =
@ 0.16 — 0.03 =
0./ — 0.09 =
® 0.39 — 0.04 =
0.1 — 0.02 =
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Y 1-0.09=0.01
o 0.07 =
3 0.08 — 0.06 =
3 0.1 — 0.05=
@ 03 — 0.09 =
® 021 — 0.07 =
® 0.98 — 0.08 =
@ 093 — 0.02 =
0.1 — 0.07 =
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@ 0.09 — 0.06 =
0.4 — 0.06 =
@ 1 — 0.08 =
@ 0.6 — 0.04 =
@ 0.1/ — 0.02 =
0.8 — 0.08 =
® 0.38 — 0.04 =
0.1 — 0.01 =
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® 1 — 009 = @ 0.08 — 0.05 =
@ 0.0/ — 0.05 = 0.2 — 0.05 =
® 03 — 004 = @ 1 — 009=
@ 02 — 008 = ® 07 — 003 =
® 021 — 0.06 = ® 017 — 001 =
® 097 — 007 = 0.9 — 007 =
® 092 — 002 = ® 0.37 — 0.04 =
0.1 — 0.06 = 0.1 — 001 =
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® 0.36 — 0.04 =
0.1 — 0.02 =



